Rotational and Statlc Equilibrium
1. Find the force needed att

he very left end of a lever in order to maintain rotational equilibrium
of a 8.0 m long lever. - .
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2. a) How far left from the fulcrum would you have to place an object with mass 50.0 ke in order to
ensure a rotational equilibrium?
b) Predict how far right from the fulcrum would you have to place this 50.0 kg mass in order to ensure a
rotational equilibrium? Why? Confirm your reasoning by calculating the %, T.
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3. Consider an 11.0-m long lever. Where and at what direction would you apply a smallest possible
force that would ensure a rotational equilibrium of the system?
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4. Provided that the bar below is 8.0 m long, its mass is 50.0 kg, and the pivot point is 1.2 m from the its
right-most point, what is the torque of the bar?
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5. How would the torque from question 4 change if the pivot point was 1.2 m from the left-most point of
the bar? Sketch a labelled diagram. And show calculation supporting your prediction.
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